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B3 —2 FEMICERATHILBESNOERICEIHEE (1/1) _ _ _ REEE | ERR18FE
2ENMONE | #MES | 129A2056 | [EliES | /hkE2s#El—16 | FRfEHh | ERAFERKRERT/NMEF28HBE
) SERMO TinICHEET S ZEH A
Eﬁg TREOBEBOSILEHOKRES TERFDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESEILADKES
R o | BT e | B2 | e | e | B2 | B TR e | B2 | T | & | T
1 100kN/m##8% % 1.00{0.00 ~ 1.68 125.69| 3m%x#B 25 -~ - - —| 100kN/mM%#B % % 1.00{ 10.74 ~ 17.33 125.69| 3m%x#B 25 -~ - - -
s 1.00]1.68 ~ 946 100.00f Zh st | 0.00 ~ 9.46| 2.27 12.16 s 1.00f 500 ~ 10.74 100.00| Zhl4t+ | 5.00 ~ 17.33| 2.27 12.16
9 100kN/m##8 %% 1.00{0.00 ~ 1.87 128.79| 3m%x#B 25 -~ - - —| 100kN/mM%#8 % % 1.00{ 10.56 ~ 17.21 128.79| 3m%x#B 25 -~ - - -
s 1.00]1.87 ~ 9.65 100.00f Zhklst |0.00 ~ 9.65| 242 12.94 s 1.00f 5.00 ~ 10.56 100.00f Zhlst | 5.00 ~ 17.21| 2.42 12.94
3 100kN/m##8 %% 1.00{0.00 ~ 1.32 120.03| 3m%x#B2 5% -~ - - —| 100kN/mM%#2 % % 1.00{ 10.82 ~ 15.01 120.03| 3m%*x#B 25 -~ - - -
s 1.00]1.32 ~ 9.11 100.00f Zhl4t 10.00 ~ 9.11] 251 13.44 s 1.00f 5.00 ~ 10.82 100.00f Z=hkl4+ | 5.00 ~ 1501 2.51 13.44
4 100kN/m##8 %% 1.00{0.00 ~ 048 107.14| 3m%x#B2 5 -~ - - —| 100kN/mM%#2 % % 1.00{ 1144 ~ 13.16 107.14| 3m%x#B 25 -~ - - -
ZHnLs 1.00/048 ~ 8.27 100.00f Zhkl4t |0.00 ~ 8.27| 2.00 10.72 s 1.00f 500 ~ 11.44 100.00f Z=hkl4t+ | 5.00 ~ 13.16] 2.00 10.72
5 100kN/mM%#BZ % -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 7.60 97.32| #h L4t | 000 ~ 7.60| 2.16 11.54 s 1.00f 5.00 ~ 10.08 97.32| #h L4+ | 5.00 ~ 10.08| 2.16 11.54
6 100kN/m##8 %% 1.00{0.00 ~ 0.49 107.27| 3m%x#B2 5 -~ - - —| 100kN/mM%#B % % 1.00{ 10.63 ~ 11.97 107.27| 3m%x#B 25 -~ - - -
s 1.00/049 ~ 8.28 100.00f Zhkist |0.00 ~ 8.28] 2.26 12.09 s 1.00f 5.00 ~ 10.63 100.00f Z=hl4t | 5.00 ~ 11.97| 2.26 12.09
7 100kN/m##8 %% 1.00{0.00 ~ 154 123.43| 3m%x#B2 5 -~ - - —| 100kN/mM%#8Z % 1.00{ 10.54 ~ 15.80 123.43| 3m%x{B25 -~ - - -
s 1.00]1.54 ~ 9.32 100.00f Zhki4t |0.00 ~ 9.32] 2.35 12.59 s 1.00f 500 ~ 10.54 100.00f Z=hkl4+ | 5.00 ~ 1580 2.35 12.59
8 100kN/m##8 %% 1.00{0.00 ~ 1.94 129.94| 3m%x#B2 5% -~ - - —| 100kN/mM%#8 % % 1.00{ 10.63 ~ 17.59 129.94| 3m%x#B2 5 -~ - - -
s 1.00/1.94 ~ 973 100.00f Zhklst |0.00 ~ 9.73] 2.46 13.14 s 1.00f 5.00 ~ 10.63 100.00f Zhl4t | 5.00 ~ 17.59| 2.46 13.14
9 100kN/m##8 %% 1.00{0.00 ~ 292 146.30| 3m%x#B 25 -~ - - —| 100kN/mM%#B % % 1.00{ 10.83 ~ 24.61 146.30| 3m%x#B 25 -~ - - -
s 1.00{2.92 ~ 10.70 100.00f Z=h 4t | 0.00 ~ 10.70| 2.87 15.34 s 1.00f 5.00 ~ 10.83 100.00f Zhkl4t | 5.00 ~ 2461 2.87 15.34
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
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